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Name..                                                         Date..  

A school kitchen plans to serve fruit every day at lunchtime. 

Calculate the answers to these questions using the expanded written 
method of multiplication. Write the answer to the problem.

Use the expanded written method to calculate HTO × O 

Multiplication HTO x O using the expande d written method

 Year 4, Unit 8, Week 1, Le s son 3
Extension

1 The cook 
buys 463 
packs of 
apples. 
How many 
apples 
are there 
altogether? 

    

2 The cook 
buys 897 
packs of 
oranges. 
How many 
oranges 
are there 
altogether?

    

3 The cook 
buys 857 
packs of 
plums. How 
many plums 
are there 
altogether?

    

4 The cook 
buys 386 
packs of 
pears. 
How many 
pears is this 
altogether?

    

8 
per pack 7 per pack

4 
per pack

9 
per pack

6 
per pack

H T O

x

H T O

x

H T O

x

H T O

4 6 3

x 8

2 4 (3 x 8)

4 8 0 (60 x 8)

(400 x 8)

   Apples             Bananas              Pears            Oranges          Plums
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